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QUE: 1 Attempt all MCQS [28)
1. Productivity means
(A} Input/output {B) Output/Input  {C) Output-Input (D) Input-Output
2.  When is World Cotton Day Celebrated? _ ‘
{A) October 6 (B} October 7 (C} October 5 (D) October 3
3.  Total factor productivity is also known as which of the following? :
(A) Single factor productivity (B) Double productivity
(C) Multifaceted productivity (D) Multifactor productivity
4, Technological Development affects productivity
(A} True (B} False
5. Measurement of productivity are -
(A) Partial productivity (B) Total factor productivity
(C) Total productivity D) All of the above

6.  Which one of the following is not a component that is used in calcuiating labor produ clivigy?
(A) Man Hours (B) Total output . (C} Number of workers (D) Hourly wage

7. The workers in your company produced $ 25,000 worth of products this month, Spcndﬁng <l
. total of 1,000 man hours to do it. What is your company's labor productivity for the month?
(A) $ 250 per man hour (B) $ 25 per man hour _

. (C) 2,500 per man hour (D) you can't make the calculation with the data provided

8.  Transportation cost mainly depends on which of the following factors?
(A) Distance (B} Weight of merchandisc

(C) Time required for transportation (D} Al of the above

9, The Least cost theory is based around rising profits by decreasing the expenses in
transportation and labor

(A) True (B} Faise
10. Who publishes the index of industrial production data?

(A) Central statistical office {B) Departraent of census
(C) National sample survey office (D} None of the above
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11.  Which of the following does not affect the location of industries?

-(A) Per capita income (B) Energy (C) Raw material (D) Labor
12, Who is the textile minister of India?

{A) Smt. SmritiZubinlrani (B) Sh. Ravi Capocor

(C) ShriVijoy Kumar -Singh D) Shri Sanjay Sharan

13.  Every year, the Government of India celebrates National Handloom Day on
{A) August 7 (B) June 7 (C} Maxch 7 (D} December 7

14.  When was Alired Weber's Location theory developed?
(A) 1909 . (B) 1919 (C) 1990 (D} 1900

15.  Give the equation of productivity of machine
16. NPC means

17.  Agglomeration is also known as ,
(A) Concentration (B) Dispersal (C} Regional {Dj None

18. Deglomeration is also known as
(A) Concentration (B) Dispersal : (C) Regional (D) None

19.  Uttar Pradesh is the largest producer of the wheat in India
(A) True (B} False

20.  Which of the following industries are to be given compulsory licensing?
{A) Alcohol {B) Tobacco {C) Drugs and pharmaceuticals (D) Al of these

QUE: 2 Explain importance and role of industries in economic and social development (15)
OR

QUE: 2 Explain Weber theory of location {15)

QUE: 3Short Qucstions (Attempt any five out of ten) (23)

Industrial classification

Factors affecting of plant location

Agro based industries

Importance of cottage industries

Liberalization and its effects on industry

Factors affecting the industrial productivity

Factors affecting of industrial workers

Rural industrialization

Indicators, of regional imbalances

Need for balanced regional development of industries
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